IN-0005778



Marks Garden

Mark's Garden 13838 Ventura Blvd.

Sherman Oaks, CA 91423

,

12/06/2022 09:00 AM | Install Day 1 12/07/2022 08:00 AM | Install Day 2 12/07/2022 05:00 PM | Event 12/07/2022 11:58 PM | Strike PO: Shipping Address: Beverly Hills Hotel Crystal Ballroom Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

	,		•		
Description		Qtty	Price		Total
ΓBD Options					
	Custom White High Gloss Wood Truss Cover - 30'D Round	2	\$7,600.00	Т	\$15,200.00
	(3) sides covered approx 95' per circle				
	Custom White High Gloss Wood Truss Cover - 16'D Round	1	\$4,000.00	Т	\$4,000.00
	(3) sides covered Approx 50' per circle				
	Custom White High Gloss Wood Truss Cover Legs	1	\$34,750.00	Т	\$34,750.00
	(4) Sides Covered Approx: 278' Linear total (16) 13'L (1) 14'L (2) 28'L				
			Total TBD Options		\$53,950.00
TBD Options 2					
	Custom Mirror Plexi Truss Cover - 30'D Round (3) sides covered approx 95' per circle	2	\$26,125.00	Т	\$52,250.00
	Custom Mirror Plexi Truss Cover - 16'D Round	1	\$13,750.00	Т	\$13,750.00
	(3) sides covered Approx 50' per circle				
	Custom Mirror Plexi Truss Cover Legs	1	\$97,300.00	Т	\$97,300.00
	(4) Sides CoveredApprox: 278' Linear total(16) 13'L(1) 14'L(2) 28'L				
			Total TBD Options	s 2	\$163,300.00
Ceremony					
	Custom Mirror Plexi Truss Cover Legs 8'H x 12" x 12" Mirror Plexi-glass facade (4) Sided	4	\$2,800.00	Т	\$11,200.00
			Total Ceremony		\$11,200.00
Entry Area				-	·

Description		Qtty	Price		Total
	Console Tables - Mirrored 02 NO Skirt	1	\$200.00	Т	\$200.00
	Abu Dhabi Ottoman - Chrome	2	\$60.00	Т	\$120.00
			Total Entry A	rea	\$320.00
Cocktails					
	Las Vegas Coffee Table - Mirrored Round Large	1	\$250.00	Т	\$250.00
	Las Vegas Accent Table - Mirror Faced Square	4	\$85.00	Т	\$340.00
	Athens Channeled Chaise Right - Off White Boucle	1	\$450.00	Т	\$450.00
	Athens Channeled Chaise - Off White Boucle	1	\$450.00	Т	\$450.00
			Total Cocktails		\$1,490.00
Main Ballroom					
	Perimeter Drape: White Lame Gauze w. Silver Stitch for the Stage Wall only and the Entrance Wall double sided (from Balcony). Additionally the alcoves draped	1	\$8,000.00	Т	\$8,000.00
	Stage Drape: Starburst	1	\$2,500.00	Т	\$2,500.00
	Aspen Dining Chair - White w. White Linen	180	\$25.00	Т	\$4,500.00
40 MG	Chandelier - Versailles - 2 Tier Basket Small 44"W x 47"H - 70 Lb - 1,025 watts	8	\$750.00	Т	\$6,000.00
-de	Chandelier - Versailles- 3 Tier Basket Small 44"W x 53"H - Weight 80 Lb - 950 watts	8	\$750.00	Т	\$6,000.00
	Chandelier - Versailles - 2 Tears Basket Medium 53"W x 57"H - 100 lb - 1,2275 watts	3	\$1,350.00	Т	\$4,050.00

Monaco Round Bar 16'D (5pc) - White Painted in White	1	\$3,600.00	Т	1
			•	\$3,600.00
Dimensions : Inside Dimension: 10'D Outside Dimension: 15'10"D Height: 43"H				
OPTION 2: Boston Oval Barback w. Tier Shelves 61"D x 100"H PAinted white with Silver Trim NO top (2) tiers	1	\$500.00	Т	\$500.00
Beirut Sofa - Curvy Ivory Velvet	4	\$500.00	Т	\$2,000.00
Beirut Club Chair- Ivory Velvet	4	\$300.00	Т	\$1,200.00
Bruges Coffee Table - White W/ Black Glass Top	4	\$300.00	Т	\$1,200.00
Custom Mirror Top for Bruges Coffee Table	4	\$400.00	Т	\$1,600.00
Beirut Ottoman- Ivory Velvet	8	\$100.00	Т	\$800.00
Las Vegas Accent Table - Round Mirrored	4	\$85.00	T	\$340.00
Dj Booths - Nice Oval Light Up - Silver	1	\$450.00	T	\$450.00
		Total Main Ballroom		\$42,740.00
Services				
Installers: Install Dec 6th	12	\$500.00		\$6,000.00
Installers: Touch Ups Dec 7th	8	\$400.00		\$3,200.00
Installers: Strike Overnight	12	\$450.00		\$5,400.00
Trucking: 24'L Truck	4	\$450.00	Т	\$1,800.00
Trucking: Fuel Surcharge	4	\$65.00	Т	\$260.00
Certificates: Flame Proofing	1	\$850.00		\$850.00
Manager: Onsite	1	\$850.00		\$850.00
Manager: Layouts	1	\$950.00		\$950.00
Misc: Supplies	1	\$1,000.00		\$1,000.00

Description	Qtty	Price	Total
Presentation: at BHills Hotel	1	\$500.00	\$500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$273,000.00
	Total Labor/Services/Misc:		\$20,810.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Ta	axes (tax excempt):	\$0.00
		Discounts:	(\$0.00)
Notes		Total:	\$293,810.00
Confirmation for the Mirrored Trussing Covers will be needed on Monday, Nov 21st by EOD inorder for production to be completed in		Payments:	(\$0.00)
time. Additional, trussing will be needed at Revelry for Covers to be made properly.		Balance:	\$293,810.00